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ROUND1-G1
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 |EH R (] IR - B 5 76) 68 =— XA K 17.22 7.44 24. 66
2 |RHG BN (ONIVSIIPNTE == 8 ZIWNT 7 17.36 7.20 24. 56
3 |EAET (THER - BB BE TR AR 8 I NN T 7 16.80 17.02 23. 82
4 (B B (e i - B30 8 JNANLT 7 15.54 6.66 22. 20
5 |&EHH KfE (B R - JEA) 30 =¥ 15.26 6.54 21. 80
6 [HAE BEA (& LR« BRN7 A7) 30 = E 15.40 6.36 21.76
7 (B B CEr IRy IR - EIRESE —) 7T —r 14.84 6. 42 21. 26
8 M sl CRTE IR - BT —) 68 =—/3A R 14.56  6.30 20. 86
9 |EfE A (AR IR+ G0 e B I R I8 8 I NN T 7 14.56 6. 24 20. 80
10 g K— (BKH R+ BRS7Z ) 6 —H 14.56 5.94 20. 50
11 '8 Ko CRUEBIRF - AUET RS HE 7 5 32 VAV 13.44 6.12 19. 56
12 | e A (TR R - JRSEIS ) 48 N A XA 12.60 5.52 18.12

ROUND1-G2
NEAE 4 Hi il ¥4 TEC  ATH Total
1 |B48 ERk (PR IR+ PR 52) 8 NN Ty 17.78 7.26 25. 04
2 |EE st (FL i IR R R R A ) 8 I NN Ty 17.22 17.20 24. 42
3 [RJI FrE (REPIR - IMAE—) 8 LT 7 16.66 6.96 23. 62
4 |IRF ZEHR (g IR - AALBR) 8 I NN Ty 16.10 6.72 22. 82
5 [HME R @31 R REVNES R /N 68 =— XA R 15.40 6.48 21. 88
6 |THE OKER (@ R - JEIUN = B 24 A wvay 15.40 6.48 21. 88
7|l B (At - AbvigE S A ) 68 =— %A K 14.70 6.48 21.18
8 |=H b5 (AR - BSZ2EH) 48 Ny A XA 14.42 6.30 20. 72
9 |49 B (RS - FIEER) 68 =— %A K 14.00 6.18 20. 18
10 [miH  FEAED (B« BRSZ R T236) 48 Nyt A XA 13.86 5.88 19. 74
11 |[fEA K (ZEE - BRSZ0Y A AP 48) FEMe 0.00 0.00 0. 00
11 |[fEA B (N - miad ) M 0.00 0.00 0. 00

ROUND1-G3
NEAZ £ il BT & ¥4 TEC _ ATH Total
N P (S Ry IR - WRSE2235T) 68 =— XA K 17.36 7.44 24. 80
2 |BER WEE (BB - RS RIR PG 3) 30 =¥ 16.94 7.44 24. 38
3 |EFRS AR (A B - &=K) 8 JIWNT 7 16.80 7.26 24. 06
4 |2 EE CROCER = A2 32 VAV 16.52 7.02 23. 54
5 [fadk ok (& LR - &R s —) 8 ZIWNT 7 16.38 6.96 23. 34
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6 |PFH A (BhR I - R rAn L o) 68 =— XA R 15.82 6.72 22. 54
7 O[ERE EBR (KA I - RS2 K53 8 JNNLT 7y 15.40 6.54 21. 94
8 |4l JnEe (AR LR 3T 3B I8 B ) 30 =K 15.26 6.60 21. 86
9 |gniE LD L CAITE « IMARE) 68 =—/3A R 15.12 6.42 21. 54
10 [fEJR fESr (B g - W) 68 =— XA R 14.00 6.18 20. 18
11 |9 R (R« Relfr B AKR) 30 =K 14.14 5.88 20. 02
12 [RA %= CaFE - R3ZA) 14 F v 13.30 5.64 18. 94

ROUND1-G4
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1 [HE HE (B B - BFESR) 68 =—/3A R 17.78 7.50 25. 28
2 |/l FEAEA (FRZN B+ B R AR AR 68 =—/ XA K 17.50 7.44 24. 94
3 |rhH IR (BEIR I - RSZHIR) 57 BA v F 15.82 6.78 22. 60
4 |80 (I B IR - 5 38) 8 I NN Ty 15.26 6.60 21. 86
5 |EiE R (IR - RS2 R ) 68 =—/ XA K 15.26 6.54 21. 80
6 |t R (REAIR: - JUMN Z2B) 24 AT Uvay 14.70 6.48 21.18
TR HER (IR - bk) 14 Fr v 14.84 6.30 21. 14
8 |xtis  mt (H AR - SLATFPEEE %) 30 = 13.58 5.82 19. 40
9 |REE VEE ORI « JRNZ RS Hvs) 30 =¥ 13.16 5.64 18. 80
10 |hljE  f<A2 (Be B R - WASEIRERT) 68 =— AR 13.02 5.58 18. 60
11 |&fE = (AR - BT m T3 6 &—H 13.02 5.58 18. 60
12 |48 Jih (HBER - KB IRSLAER) Fobe 0.00 0.00 0. 00
ROUND1-G5

NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [ (CRBRURF = TR 8 J NI T 7 17.64 7.44 25. 08
2 |5EHk W (PRI« BRIAAE) 30 = E 16.38 7.02 23. 40
3 PEi v (RIS = K30 30 = 16.24 17.08 23. 32
4 |AH B (REARIE « JUN Z2B2) 68 =—/ %A K 15.82 6.60 22. 42
5 |xn E (& R - &5 —) 8 J NI T 5 15.68 6.72 22. 40
6 |+ A (N - miadgy) 8 I NN Ty 15.40 6.36 21.76
(O PSS CEr IRy IR - ETIRFPS) 68 =—/ %A K 15.12 6.60 21.72
8 B E=RR ORI - WS 251) 68 =—/ %A K 14.98 6.30 21. 28
9 |IKH F— (el B Rk el . T 336 v B R P 22 A% 68 =—/ %A K 14.56 6.54 21. 10
10 [75RE  fEKED (AR - WRSL5LAT) 30 = E 14.00 5.82 19. 82
INEN [N PN CEH IR - AlEdiE) 68 =—/ %A K 13.72 5.94 19. 66
12 |4k p&i (eI » BS2K ) 68 =—/3A R 12.60 5.40 18. 00
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ROUND1-G6
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1 AR BA (THER - FIHRFALRE) 30 = E 16.94 17.32 24. 26
2 |EH & (FeE R - RS2 R M) 68 =—/3A R 16.80 7.02 23. 82
3 |HEH = (WA SR« T8 = R~ [ ) 30 =¥ 15.82 6.90 22. 72
4 |EHE B (RHFIR - IAARE ) 30 = 15.26 6.60 21. 86
5 |nm = (] R - AR ) 68 =— XA K 14.84 6.72 21. 56
6 |FeRk be (e - AbyfEiE A EER) 30 = 14.84 6.54 21. 38
TO|UEE W (FoARMR « JRSZARTRE) 68 =—/3A R 14.84 6.36 21. 20
8 | JShFE (R - B’SE K3 E) 8 I NN Ty 14.70 6.30 21. 00
9 /A ER CAIER « /MARE) 30 =¥ 13.86 6.06 19.92
10 Al B (ZJnI - 5T 68 =—/3A R 13.16 5.76 18.92
11 [ir EFA (%0 - BITEZEEY 30 =¥ 13.02 5.58 18. 60
12 [/NEF R (IR - RS KE) M 0.00 0.00 0. 00

ROUND1-G7
NEAE 4 Hi il ¥4 TEC _ ATH Total
R PN R (BERS IR - RRSZATRE 13) 24 vy wvay 17.50 7.32 24. 82
2 |t&EE ECH: (el W+ R %5 74) 68 =— XA R 17.36 7.38 24. 74
3 | Ak (PRI - VASETHR) 8 I NN Ty 15.82 6.78 22. 60
4 |NE zE (& B - @b 5 —) 8 VNN Ty 15.40 6.60 22. 00
5 |hHir & (fEFH IR« RN T 26) 30 = E 15.12 6.48 21. 60
6 |lio KB (fE R IR - 1175 8 VNN Ty 14.70 6.36 21. 06
7 [WEF REEK (A B - =K) 8 VNI T 5 14.42 6.18 20. 60
8 | i (LAY - BASEFRF S —) 68 =— %A K 14.28 5.88 20. 16
9 |EK ®mE (B R - FEA) 48 /Ny A XA 14.14 6.00 20. 14
10 |f&H  EH RER - &2 B ST AE) 68 =— %A K 14.00 6.00 20. 00
11 |1 Ik (TR - R 68 =—/ %A K 13.44 5.70 19. 14
12 &G WE CaF IR - BRI —) 1 7—=vyr7— 13.02 5.40 18. 42

ROUND1-G8
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1[BE B (B ER - By E%) 8 JIWNT 7 17.36 7.50 24. 86
2 (B CROCER - A2 8 I NN Ty 17.22 17.32 24. 54
3 |IFRAR E—RE (e LR - 38R0 F L) 30 =¥ 17.08 17.32 24. 40
4 |ET HhE CRUEBIRF - AUET RS HE S ) 8 I NN T 7 16.52 6.72 23. 24
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5 | T #t (ZER - gnlE TEmFEHI AR 30 =K 16.10 6.96 23. 06
6 [Mf FE (AR LR+ 3T SO B I8 B ) 30 = E 15.96 6.96 22.92
7B I (BRH B - BRNZRKH T236) 8 J NI T 5 15.68 6.60 22. 28
8 |mm #ik GBI - T3 68 =— %A 7K 14.98 6.54 21.52
9 B0 KA (Rl « BN HARAR) 30 =K 14.56  6.06 20. 62
10 [HiA $H5E (BB - BRI ERE R |7 B—A 13.72 5.82 19. 54
11 A &K Ry BUR: = RNEK A3 48 Nyt A XA 13.44 5.70 19. 14
12 [ B3R fEZIT (BRI - BEIREE—) FEMe 0.00 0.00 0. 00
ROUND2-G1
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1 |EH R (Ff] SR - 10 5 78) 76 A—r8— 1 Lnlg 17.64 17.56 25. 20
2 |EE Est (FRE IR« BRI R AR ) 81 7—F v 17.22 7.44 24. 66
3 |AE B (e i - B30 80 /XA 77— 17.22 7.32 24. 54
4 |RAk B (RBRFF + RB== 81 7—F v 17.08 7.38 24. 46
5 |E4E Rk (PPR IR - T R 27) 9 A= 8— U g 15.68 6.84 22. 52
6 |WHET (THER - BB BE R 9 A= 8— U g 14.98 6. 42 21. 40
TO|MRI (BB IR - AR —) 9 A= 8— U g 13.72 6.00 19. 72
8 |ARKS ZEIR CEr oI - AL EB) 9 R— 3=l iy 13.58 5.82 19. 40
ROUND2-G2
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [BER BEA (BERS IR - RSP 36) 86 WA 18.34 7.98 26. 32
2 |/l FEAEA (PRI G2 AR L) 76 A—r8— 1) g 17.92 7.74 25. 66
3 |BRT A (A B - =K) 81 7—F 17.64 7.62 25. 26
4 |28 B (CHRORCHD - A ) 33 V—F 16.80 7.32 24. 12
5 PR MW= (FBEE - BHER) 76 A— 38— g 16.52 6.96 23. 48
6 |FRHE (EEVE RS IR « VRS HIFe) 83 SN—F—L 16.24 17.08 23. 32
T\ KR ORI - WS 251) 76 A—r8— 1) L2y 15.96 6.84 22. 80
8 |wA EE (I R IR, - 5 38) 9 R—s— U g 15.82 6.90 22. 72
ROUND2-G3
NEAZ £ Hi BT & ¥4 TEC __ ATH Total
L & (el - RSZRH) 83 N—F—1L 17.36 7.32 24. 68
2 |%en i (RBRJFF + JR33) 81 7—F v 16.80 7.38 24. 18
3 [Em (R - K 36 IV ERYa Y 16.52 17.20 23. 72
4 |FAR BA (THER - FIHRFALRE) 38 T A— 16.10 7.08 23. 18




fERLR—k
BFEAR

e ET O

2021481 13~15H

IR - LR A ARB AR E
5 |WEH Y= (WA IR« T8 e B R b)) 36 AV ay 16.24 6.78 23. 02
6 |AMm FHE (REARIR « JUMIZ2B5%) 84 Fy X ¥ I —H 7 —|15.68 6.84 22. 52
7By W3 (FRZ=) 1R - BEIEAI ) 38 T A— 15.12 6.60 21. 72
8 |HE B2 (REFIR - AR - ) 36 AV ay 14.42 6.30 20. 72
ROUND2-G4
NEAZ 4 Hi BT & ¥4 TEC __ ATH Total
1[BE B (BrER - By E%) 81 7—F v 19.32 8.16 27. 48
2 |KE M (BERS IR - RSZRTHG 1.36) 38 Y A— 18.62 7.86 26. 48
3 (B CROCER - A2 9 A= 8= g 17.78 17.74 25. 52
4 |tRRE ECH: (Fee] U - AE1I 5 79) 84 Fy Zr¥ 57— —|17.50 7.50 25. 00
5 |RAR E—RE (e LR - 38R0 L) 38 Y A— 16.52 7.14 23. 66
6 |@Ik [EAL (PR - BRSZIHIR) 9 A= 8— U g 16.38 6.90 23. 28
T VNE %E (& LR - &R s —) 83 N—TF—1L 15.68 6.72 22. 40
8 |HT i CRUEBIRF - AUET RS HE 7 ) 81 7—F v 15.12 6.54 21. 66
ROUND3-G1
NEAE 4 Hi il ¥4 TEC _ ATH Total
1 [EH R (R R - 0B 5 74) 83 SN—F—L 17.78 7.62 25. 40
2 |Rpk B CNUS RPN &S 9 R—s— U 2y 16.94 7.32 24. 26
3 |/ FRKEA (PRI« JEBA A AR AL 81 7—F v 16.52 17.26 23.78
4 % B} (Fo i R R R R A ) 9 R— 3l iy 16.38 7.14 23. 52
5 |B2EF  phkE (CHRORCHD - A ) 3B AV YR A 15.96 6.84 22. 80
6 |BER HEE (BERS IR - RSP 36) 38 Y A— 15.82 6.90 22. 72
TO1EfE G =29 9 R—s— Y g 14.98 6.54 21.52
8 | TR (A B - =K) 9 R—s— Y 2y 14.70 6.36 21. 06
ROUND3-G2
NEAZ 4 Hi BT & ¥4 TEC _ ATH Total
1[BE E (B B - B 83 N—TF—1L 19.18 8.16 27. 34
2 | e (R - K30 86 WA 18.20 17.92 26. 12
3 | i (RBRJFF + JR3) 9 R Y g 17.64 17.68 25. 32
4 |KE M (RERG IR - RASZAIHG 128) 36 IVayTRvay 17.50 7.50 25. 00
5 |EH & (Fe R - RS2 R M) 84 Fxy X r¥7 s —H27—|17.50 7.38 24. 88
6 |tRAE ECH: (] R - 5 76) 83 SN—TF—L 16.94 7.26 24. 20
7 (B CROCER - A2 81 7—F v 15.96 6.90 22. 86
8 |FHAR HEA (THER - FIERFALRE) 36 V2RV a Y 15.82  6.90 22. 72
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JIEAL. £ Hi i) B 4 TEC = ATH Total
1 [RAk HER (CRBRIAT - KBsez= 83 N—F— L 17.50 7.68 25.18
2 |5en B CRBRIE - 1RE) 83 N—F— L 17.22 7.32 24. 54
BRONZE-G2
JIEAL £ Hi s B 4 TEC ~ ATH Total
1 |AH % (R - ZK3R) 31 b 17.92 7.80 25. 72
2 [/l FREIKEA (LI E « SEBA - EARRLR) 84 Fy X ¥F s —%r7—|[16.52 7.38 23.90
GOLD MATCH
JIEAL. £ Hi i) e 4 TEC = ATH Total
1 |[FkE E3F (FrER - HEHR) 9 AR— 8— Y g 17.64 7.38 25. 02

2 = R (B o) R« B35 ) 81 7—F 16.80 7.68 24. 48




